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WHY THE
DIFFERENCES?

As of right now, my carbon
emissions are pretty low, this is
because I'm a college student
who doesn’t have a car and |
walk everywhere. I'm a
pescatarian which lowers my
emissions, | also live in a huge
residents hall. In the future my
carbon emissions are much
higher because | plan on having
a lifestyle where | travel a lot. |
will fly a lot as well and use
other forms of transportation
more often, like car, bus, and
rail. | also want to live in an
apartment building with way
less people per unit than | do
now. All in all, my drastic
increase in travel,
transportation, and housing
carbon output greatly increases
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